O times table
0x5=0 0+5=0
1x5=5 5+5=1
2x5=10 10 +5=2
3x5=15 15+5=3
4x5=20 20+5=4
S5X5=25 25+5=5
6x5=30 30+5=6
7x5=35 35+5=7
8x5=40 40+5=8
9x5=45 45+5=9
10x5=50 50+5=10
11 x5=55 55 +5 =11

12x5=60

60+5=12

|0 times table

0x10=0
1x10=10
2x10=20
3x10=30
4x10=40
5x10=50
6x10=60
/7x10=70
8x10=80
9x10=90

0+10=0
10+10=1
20 +10=2
30+10=3
40+10=4
50+10=5
60+10=6
70+10=7
80+10=38
90+10=9

10x10=100 100+10=10
11x10=110 110+10=11
12x10=120 120+10=12

2 times table
0x2=0 0+2=0
1x2=2 2+2=1
2x2=4 4 +2=2
3x2=6 6+2=3
4x2=8 8+2=4
5x2=10 10+2=5
6x2=12 12+2=6
/7x2=14 14+2=7
8x2=16 16+2=8
9x2=18 18+2=9
10x2=20 20+2=10
11x2=22 22 +2=11
12x2=24 24 +2=12



4 times table 8 times table 3 times table
0x4=0 0+4=0 0x8=0 0+8=0 0x3=0 0+3=0
1x4=4 4+4=1 1x8=8 8+8=1 1x3=3 3+3=1
2x4=8 8 +4=2 2x8=16 16 +8=2 2x3=6 6 +3=2
3x4=12 12+4=3 3x8=24 24 +8=3 3x3=9 9+3=3
4x4=16 16+4=4 4x8=32 32+8=4 4x3=12 12+3=4
5x4=20 20+4=5 5x8=40 40+8=5 5x3=15 15+3=5
6x4=24 24 +4=6 6x8=48 48 +8=6 6x3=18 18+3=6
7x4=28 28+4=7 7x8 =056 56 +8=7 7x3=21 21+3=7
8x4=32 32+4=8 8x8=64 64+8=8 8x3=24 24 +3=8
9x4 =36 36 +4=9 9x8=72 72+8=9 9x3=27 27+3=9
10x4=40 40+4=10 10x8 =80 80+8=10 10x3=30 30+3=10
11x4=44 44 -4 =11 11x8=88 88+8=11 11x3=33 33+3=11
12x4 =48 48 +4 =12 12x8 =96 9+8=12 12x3 =36 36 +3=12




6 times table
0x6=0 0+6=0
1x6=6 6+-6=1
2x6=12 12+6=2
3x6=18 18+6=3
4x6=24 24+6=4
5x6=30 30+6=5
6x6 =36 36 +6=6
7X6=42 42 +6=7
8x6=48 483 +6=8
9x6=54 54+6=9
10x6 =60 60+6=10
11x6 =66 66+6=11

12x6=72

72+6=12

9 times table
0x9=0 0+9=0
1x9=9 9+9=1
2x9=18 18 +9=2
3x9=27 27+9=3
4x9=36 36 +9=4
5Xx9=45 45+9=5
6x9=54 54+9=6
7x9=63 63+9=7
8x9=72 72+9=8
9x9=281 81+9=9
10x9=90 90+9=10
11x9=99 99+9=11

12x9=108 109+9=12

/ times table

O0x7=0
1x7=7
2x7=14
3x7=21
4x7 =28
5x7=35
6Xx7=42
7x7=49
8x7=56
9x7=63

10x7=70
11 x7=77
12x7 =384

0+7=0
7+7=1
14 +7=2
21+7=3
28+7=4
35+7=5
42+7=6
49+7=7
56 +7=8
63+7=9

70+7=10
77+7=11
84+7=12



| times table

O0x11=0 0+11=0
1x11=11 11+11=1
2x11=22 22 +11=2
3x11=33 33+11=3
4x11=44 44 +11=4
5x11=55 55+11=5
6x11=66 66+11=6
7x11=77 77+11=7
8x11=88 88+11=8
9x11=99 99+11=9
10x11=110 110+11=10
11x11=121 121+11=11
12x11=132 132+11=12

|2 times table

0x12=0 0+12=0
1x12=12 12+12=1
2x12=24 24 +12=2
3x12=36 36+12=3
4x12=48 48 +12=4
5x12=60 60+12=5
6x12=72 72+12=6
/7x12=84 84+12=7
8x12=96 96+12=8
9x12=108 108+12=9
10x12=120 120+12=10
11x12=132 132+12=11
12x12=144 144 +12=12
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V16=4
V25=5
V36=6
Va49=7
V64=8
V81=9
V100=10
v121=11
V144 =12




3°=27

4° =64

5°=125

6°=216

7° =343

8°=512
9° =729
10°=1000
11°=1331
12°=1728

V0=0
V1=1
V8=2
V27 =3
V64 =4
V125=5
V343=7
V512 =8
V729=9
/1000=10
V1331 =11
V1728=12

Pearl

When a number is tens times greater
than o standard fimes fable Jact, the
answer will also be 10 times greater.

7x8=56s070x8=560
O9x6=54s09x60=540

1] both numbers are fen times greafer,
then the anewer will bhe 100 times

greater.
11x4=44s0110x40=4400
Using your times table knowledge,
pracice some of your own Guestions
Like these.
How mould this work for division?
3200+4="?

Tarzanite
Decimals? What's the point?

1] . ruumber is [0 times smaller than
a. known fimes fable Jact, the answer

2x8=16s00.2x8=1.6
7xXx7=49s07x0.7=4.9

1] both numbers are fen times smaller,
then the answer will be 100 times
smaller.

12x4=48s01.2x0.4=0.48

like these.

H.ow wouldﬂru&mrk}ordwwmr?
3.2+4="?



